Sheet	1	of	13

Change Requested by: County

#### **Contract Change Order**

CCO No.	Suppl. No.	Contract No.	Contract Name	Federal Number(s)	
012		013-PW-09/10- BOS	Construction of a Cap System, French Drain, and Passive Landfill Gas Emission System Operable Unit – 1 Meyers Landfill		n/a

#### **70** Sukut Construction, Inc.

Contractor

Contractor

Sukut

You are directed to make the following changes from the plans and specifications or do the following described work not included in the plans and specifications for this contract.

NOTE: This change order must be approved by the Board of Supervisors. [X]Yes [] No Public Works Contract awarded on January 26, 2010

Description of work to be done, estimate of quantities and prices to be paid. (Segregate between additional work at contract price, agreed price and force account.) Unless otherwise stated, rates for rental of equipment cover only such time as equipment is actually used and no allowance will be made for idle time. The last percentage shown is the net accumulated increase or decrease from the original quantity in the County's Estimate.

This Change Order is for the backfill operation required over the french drain. Due to a number of issues, errors and omissions with the Final 100% Remedial Design, provided to the County by the Forest Service, additional backfill was required over the french drain, which was not included in the original bid. The contractor waives any claims for additional time or payment for the matters related to this Change Order to date.

This Change Order is for an amount not to exceed \$69,592.56

Reference: Sukut Extra Work # 19 Dated 11/18/2010

Estimated Cost: \$69,592.56 Decrease Increase X

Approved:		
Signature	(Print name & title) Kerri Williams, Fiscal Administration Man	<b>Date</b> ager
Approved:	·	·
Signature	(Print name & title) Greg Stanton, Deputy Director	Date
Approved:	·	·
Signature	(Print name & title) Gerri Silva, M.S., REHS Director	Date

We the undersigned contractor, have given careful consideration to the change proposed and agree, if this proposal is approved, that we will provide all equipment, furnish the materials, except as may otherwise be noted above, and perform all services necessary for the work above specified, and will accept as full payment therefor the prices shown above. NOTE: If you, the contractor, do not sign acceptance of this order, your attention is directed to the requirements of the specification as to proceeding with the ordered work and filing a written protest within the time therein specified.

Contractor Acceptance by		
Signature	(Print name & title)	Date



November 18, 2010

El Dorado County Placerville Office 2850 Fairlane Ct. Building 'C' Placerville, Ca 95667

Re: Extra Work # 19

Subject: French Drain Backfill

Dear Greg,

This is a change order request for the backfill operation required over the french drain. This is due to the elevations provided for the clay layer at bid time as they pertain to the french drain were not correct. This work was not anticipated based on the 100% design drawing as received at bid time.

This was unanticipated work and was another one of the many issues relating to this site as depicted by EERG on their 100% design drawing as received. The cost provided is a budget and will be tracked and billed according to field tickets provided and signed daily. **Total Final** 

Total

= \$69,592.56

Thanks for your time in this matter.

Todd Gunnell

Project Manager



### SUMMARY OF EXTRA WORK

WORK PERFORMED FOR:

County Of El Dorado

**DESCRIPTION OF WORK:** 

Fill Over French Drain

TICKET	DESCRIPTION - Labor or Equipment	TOTAL
51948	See above - Labor	\$ 6,414.05
51949	See abovè - Equipment	\$ 16,528.28
51951	See above - Labor	\$ 7,897.44
51951	See above - Equipment	\$ 16,011.45
51954	See above - Labor	\$ 6,134.52
51954	See above - Equipment	\$ 16,606.83
	Complete	The state of the second of the
	tentin i statisticambanto peritto de la compansión de la compansión de la compansión de la compansión de la co	
	A CAMPAN AND A CAM	
DTAL		\$ 69,592.56

	MATERIALS &	OTHER ITEMS		Unit Cost
	First Control of the			
y mark and a second of the sec		A TOTAL STREET CONTRACTOR STREET	er er en gregorier Gregorier en gewenne en gewenne en	
	11.0 11.0 1 mar	THE STATE OF THE S	er a de la companya della companya della companya della companya de la companya della companya d	
		Artinopolis de la Regional de la Re La Regional de la Reg		
and the second of the second	*1			



Ticket #: 51948

Cost Code: 880105

Date: 11/12/10

Work Performed For:	El Dorado County		Date:	11/12/10	
				•	
Description of Work:	Fill Over French Drain	<u> </u>			

Labor Type	LABOR	HOURS Total OT	RATE Reg. OT	Reg. AMOUNTS		
FM	Ed Wilkerson	6 🗸	\$ 84.58	\$ 507.48		
	<u> 18 augustus – John Britanis († 1886) 18 augustus – Augustus († 18 augustus – 18 augustus – 18 augustus († 18</u>	2 /	\$ 32.00	\$ 64.00		
3C	Kevin Wickiser	12 🗸	<b>\$</b> 84.34	\$ 1,012.08		
В	Version	2 /	\$ 32.00	\$ 64.00		
-10	Vanessa Echeverria		\$ 59.33	\$		
В	Mark Blanchard	3 ( ) ( ) ( ) ( ) ( ) ( ) ( ) ( ) ( ) (	\$ 32.00 \$ 59.33	<b>.</b>		
-4	Mark Digitorial	·	\$ 59.33 \$ 32.00	`\$		
В	Jose Alvaraz		\$ 59.33	\$ -		
		,	\$ 32.00	\$ -		
В⋅	Salvador Serrato		\$ 59.33	;\$::		
			\$ 32.00	\$ -		
В	Guillermo Santana		\$ 59.33	15		
			\$ 32.00	\$ -		
В	Gabriel Macias		\$ 59.33	\$ -		
	en de la companya de La companya de la co	es Necessaria	\$ 32.00	\$		
OP .	Dana Carr	10 ✓	\$ 78.95	\$ 789.50		
		2 🗸	\$ 32.00	\$ 64,00		
)P	Jerry Wilson	9.5 /	\$ 83.26	\$ 790,97		
	<u> 18. januari - Britan Britani, kalendari kalendaria kalendaria da barata da</u>	1.5 🗸	\$ 32,00	\$ 48.00		
)P	Mark Grech	20 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	\$ 81.0 <del>4</del>	\$ 7		
			\$ 32.00	<b>\$</b>		
10P	Dale Shankles		\$ 63.56	<b>.\$</b> }. →		
reamster	Tom Azevedo		\$ 32.00	\$ -		
eamsjer	Tom Azevedo	, 9.5 <sup>√</sup>	\$ 60.25	\$ 572.38		
Mechanic	Tony Green	1.5 /	\$ 32.00 \$ 82.25	\$ 48.00		
RICCHAING	Tony Green		\$ 82.25 \$ 32.00	\$ -		
OP .	Ray Ortiz	9.5	\$ 81.04	\$ - \$ 769.88		
	The state of the s	1.5 🗸	\$ 32.00	\$ 48.00		
)P	Rich McClellan	9.5 √	\$ 81.04	\$ 769.88		
er de la	or and the committee of	1.5 /	\$ 32.00	\$ 48.00		
)P	James Johnson	9.5 🗸	\$ 81.04	\$ 769.88		
e i minimum mi su aum		1.5	\$ 32.00	\$ 48.00		
UOM	MATERIALS & OTHER ITEMS	Qty	Unit Cost	Total		
				\$ -		
				.\$		
				\$ -		
				-		
NOTES:		TOTAL TH	IS REPORT	\$ 6,414.05		
				And the second second		

GENERAL ENGINEERING CONTRACTORS 4010 Chandler Ave., Santa Ana, CA 92704 (714) 540-5351 51948

ork performed for County of El Norado	Job No.	1510		+ 151
escription of work Fill over the french eleain	FWO No.	880	1-07	
	Date	11/12	110	
	Report No		of	
FOUR NA	HOURS	RATE		
EQUIP. NO.  LABOR OR EQUIPMENT (Note all accessories)	TOTAL O.T.	REG O.T.	AMOU	
	6	U.L.	7,1100	7.11
Foreman Ed Wilkerson	Z	y · · · · · · · · · · · · · · · · · · ·		-
그 이 승규님님은 이 시민들이 이렇는 사고를 그리고 있다.		<b></b>		
Gold V Kevin Wickiser	<b>84</b>			· .
	10	The same of the sa	14 S. 15 S.	<u> </u>
Op Dana Carr	9.5		17 25 7 7	
Op James Johnson	1.5			
	9.5			<del></del>
Op Jelly Wilson	1.5			- 11
	9,5			
Op Ray Ortiz	1.5		100 100	
Op Rich McClellan	9.5			<u> </u>
Sen Wie Cienan	9,5			<del></del>
Op Tom A.	1.5	Carrier Anna Carrier		
		professional and the second		1 0 1 h
		<u> </u>		<u> </u>
	1 T	2 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1		<u> </u>
		egya er en al. A Brechensen en al.	10 74 7 85 F	<del>- 2 - 1</del>
		**************************************		
	SUB TOTA	ı		
	0001017			- T
MATERIALS & OTHER ITEMS	NO. UNITS	UNIT COST		
1 Hauled 343 Loads @ 16 yds = 5488 yds	35			
		-	,	<del></del>
	- 7			<del></del>
Comment: Man Hours Total this re	port			
Total previo	us report			
Total to dat	e .		12.	<u> </u>
The above record is complete and correct. Work comp	leted and accep	ted for nav	/ment.	<del></del>
	1	//	, <del>, •=•</del>	. ;
	$\sim 10^{-1}$	<i>f</i>		٠
By Old By	ex /	REPRESENTA	p.	



Ticket #: **51949**Cost Code: 880101

Date: 11/12/10

Work Performed For:	El Dorado County	11/12/10	· · ·
Description of Work:	Fill Over French Drain	·	

QUIPMENT Material & Equipment AT 345B Excavator w/ Thumb Attachment		HOURS Total OT	RATE Reg. OT	EXTENDED AMOUNTS	
CAT	345B Excavator w/ Thumb Attachment		\$ 182.69	<b>\$</b>	
VOLVO	A40 Rock Truck		<b>\$</b> ; 146.15	\$ +	
CAT	740 Rock Truck		\$ 159.63	<b>\$</b> -	
CAT	740 Rock Truck		\$ 162.14		
CAT	637 E Scraper	19 V	\$ 381.93	\$ 7,256.6	
CAT	637 E Scraper	19 /	\$ 381,93	\$ 7,256.6	
CAT	320 Excavator		\$ 123.68	\$ -	
CAT	D8 R Dozer		\$ 191.00	.\$ -	
CAT	310 G Back Hoe		\$ 86.05	\$ 9	
	4000 Gallon Water Truck	9.5 🗸	\$ 60.33	\$ 573.14	
CAT	14G Blade		\$ 190.00	.\$ <u>-</u>	
CAT	950 Loader		\$ 95,08	_\$	
NG	54" Compactor	<u> </u>	\$ 52.88	\$ -	
-IRZ	Trackster		\$ 73.85	·\$ -	
CAT	D6R	10 7	\$ 144.18	\$ 1,441.80	
UOM,	MATERIALS & OTHER ITEMS	Qty	Unit Cost	Total	
				\$ -	
				\$ - "¢ -	
			<del></del>	(4)	
		- 1- 1- 1- 1- 1- 1- 1- 1- 1- 1- 1- 1- 1-		\$ -	
	and the second s			\$ -	
				L.T.	
		1 1			
NOTES:		TOTAL TH	TOTAL THIS REPORT \$ 16,5		
		· · · · · · · · · · · · · · · · · · ·		500 000 000 000 000	

GENERAL ENGINEERING CONTRACTORS 4010 Chandler Ave., Santa Ana, CA 92704 (714) 540-5351 51949

Work performed for County of El Dorado		Job No.	1510	014	
Description of work Fill over the french dra	in	FWO No.	880	1-07	
		Date	11/12	110	
		Report N	o. <u>Z</u>	of	<u>z</u>
		HOURS	RATE		<del></del>
EQUIP. NO. LABOR OR EQUIPMENT (Note all acc		TOTAL	REG	EXTEND	ED
EADOR ON EQUIPMENT (Note all act	essuries)	9.5	O.T	AMOUN	ITS
37-04 637		7.5			
	- <del>1                                   </del>	9.5			7
37-07 637				Land A section	
37-09 637		9,5			_
37-09 637		9.5	<del>                                      </del>	Terminal Control of the Control of t	
37-10 637		7.3			+
		9.5		1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	7.7
Tom H20 4000 gallow H20 Truck					
		10			
Ecco DGR	<del></del>	<u> </u>			$\dashv$
				1 643	3 11 /
			* (***)		
			T.	2. 98 7 7	
	- Anna Anna Anna Anna Anna Anna Anna Ann		3 - 3 - 3 - 3 - 3 - 3 - 3 - 3 - 3 - 3 -		_
			. <u>6 </u>		
	<u> Provincial de la Servicia del Servicia de la Servicia del Servicia de la Servicia del Servicia de la Servicia del Servicia de la Servicia del Servicia</u>	<u> </u>	18 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	A. C	-
	aring the state of	<u> </u>	- No. 25. 25. 25. 26.	1	* 1. 1. T
		The management of the con-			
					1.0
		SUB TOT	AL		
	<del>a Titalina (a. 2001).</del> Euges (A. Garage)				
		NO.	UNIT		
MATERIALS & OTHER ITEMS		UNITS	COST		<del></del>
					, ·
<u>and the second of the second </u>	and the second seco			Halled are assessed	
	2	And the second s	e generalista in proposition and		
		**************************************	<u> </u>	<u> </u>	
	. <u>                                     </u>		<u> </u>		
Comment: EgypneNT HOUTS	Total this rep	oort			
ngan sa kanangan di kalangan di kanangan di kanangan di kanangan di kanangan di kanangan di kanangan di kanang <del>Kanangan di kanangan di ka</del>	Total previou	is report			
	Total to date				
The above record is complete and correct.  By FOR CONTRACTOR	Work comple	NTOP AUTHORIZE			* ;
CUSTOMER—WHITE OFFICE COPY—CANARY	JOB FILE-			PY—GOLDEN	



Ticket #: 51951 Cost Code: 880105 Date: 11/13/10

Work Performed For:	El Dorado County
Description of Work:	Fill Over French Drain

Labor Type	LABOR	HOURS Total OT	RATE Reg. OT	EXTENDED AMOUNTS
FM	Ed Wilkerson	6 √		\$ 507.48
		6 √	\$ 32.00	\$ 192.00
GC	Kevin Wickiser	11 /	\$ 84.34	\$ 927.74
LB	Vanessa Echeverria	11.7		\$ 352,00
LD	variessa Echeverna		10	\$
LB	Mark Blanchard		\$ 32.00	\$ -
	Mark Dialicitato		\$ 59,33	\$ -
_B	Jose Alvaraz	Amerika da karantari	\$ 32.00; \$ 59.33	\$ -
	osso i uvalac		\$ 32.00	
В	Salvador Serrato		\$ 59,33	<u>. T </u>
<del></del>			\$ 32.00	\$
В	Guillermo Santana	5 17 Acres 14		\$: -
i de la companya de La companya de la co			\$ 32.00	\$
В	Gabriel Macias		\$ 59.33	\$
inni General diskultura	and the state of t		\$ 32.00	\$
OP	Dana Carr	9 /	\$ 78.95	\$ 710.55
	The state of the s	9 1	\$ 32.00	\$ 288.00
OP TO	Jerry Wilson	9 √	\$ 83,26	\$ 749.34
	<u> Para di Para</u>	9 /	\$ 32.00	\$ 288.00
)P	Mark Grech	<b>3</b>	\$ 81.04	\$ -
والراسو ورأك الرحاط والعدر	en e		\$ 32.00	\$
AOP	Dale Shankles		\$ 63.56	<b>*</b>
			\$ 32.00	\$
reamster	Tom Azevedo	, 9 /	\$ 60.25	\$ 542.25
Contract of State	en de la composition	9 /	\$ 32,00	\$ 288,00
Mechanic	Tony Green		\$ 82.25	\$
) <b>)</b> ?	Ray Ortiz			<b>\$</b>
Ja-	Ray Ortiz	9 /	\$ 81.04	\$ 729.36
OP .	Rich McClellan	9 /		\$ 288.00
<b>J.</b>	(Mei) Medienari	9 /	\$ 81.04 \$ 32.00	\$ 729.36
OP	James Johnson	9 /	\$ 32.00° \$ 81.04	\$ 288.00 \$ 729.36
		9 /	\$ 32.00	\$ 729.36 \$ 288.00
UOM	MATERIALS & OTHER ITEMS	Qty	Unit Cost	ع 200,00 Total
;, 1			OHIE COSE	10tai -
			<u> </u>	<u></u>
	And the first of the second se	-1.11		\$ -
				. 1
NOTES:		TOTAL TH	TOTAL THIS REPORT	



Ticket #: 51951

Cost Code: 880101

Date: 11/13/10

Work Performed For:	El Dorado County	Date: 11/13/10
Description of Work:	Fill Over French Drain	

EQUIPMENT		HOURS Total OT	RATE Reg. OT	EXTENDED AMOUNTS
CAT	345B Excavator w/ Thumb Attachment		\$ 182.69	\$ -
VOLVO	A40 Rock Truck		\$ 146.15	<b>\$</b>
CAT	740 Rock Truck		\$ 159.63	\$
CAT	740 Rock Truck		\$ 162.14	\$ <u>-</u>
SAT	637 E Scraper	18 🗸	\$ 381,93	\$ 6,874.74
CAT	637 E Scraper	18 /	\$ 381,93	\$ 6,874.74
CAT	320 Excavator	A No. of the last	\$ 123.68	<b>.</b>
CAT	D8 R Dozer	9 1	\$ 191.00	\$ 1,719.00
CAT	310 G Back Hoe		\$ 86.05	\$ -
	4000 Gallon Water Truck	9 <b>V</b>	\$ 60.33	\$ 542.97
CAT	14G Blade		\$ 190.00	\$ \\ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \
DAT	950 Loader		\$ 95.08	\$ -
NG	54" Compactor		\$ 52.88	\$ 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
IRZ	Trackster		\$ 73.85	\$
CAT	D6R	<u></u>	\$ 144.18	· <b>\$</b>
UOM	MATERIALS & OTHER ITEMS	Qty	Unit Cost	Total
				\$ -
				\$ - \$ -
	And the second of the second o			\$ -
				\$ -
				<b>\$</b>
				· · · · · · · · · · · · · · · · · · ·
NOTES:		TOTAL THI	TOTAL THIS REPORT \$	
				\$ 16,011.45

GENERAL ENGINEERING CONTRACTORS 4010 Chandler Ave., Santa Ana, CA 92704 (714) 540-5351 51951

escription of u	for County of El Dorado rock Fill over the french drain		Job No		
escribiton of M	or the trench arain	<b>)</b>	FWO No. 8801-07		
		Date			
		Report N	Report Noof		
EQUIP. NO.			HOURS	RATE	
LABOR-TYPE	LABOR OR EQUIPMENT (Note all acc	essories)	TOTAL O.T.	REG O.T.	EXTENDE AMOUNT
			6	<del>  0.1.</del>	ANIOUTI
Foreman	Ed Wilkerson		6		
Surd V	Kevin Wickiger				
V.			11 9		
0	Dana Cair		9	-	
			9		
Ορ	James Johnson		9		
Op	Jein Wilson		9	A 7 1 1 1 1	2 7 1 7 8
			9		
OP	Ray Ortiz	<u> </u>	9		
			9		2
- Ορ	Rich McClellan		9		
Op	Tam A.		9		
			1 4	9 1 2 3 1	
80-13	D&R		-		
7-04/37-07	(1)		36		
1-09/37-10	(4) 6375	<u> </u>	<u> </u>		
Tome H D	4000 gallow Ho Truck		7	77 - 12 Table 1	Carrier Services
	TOO BAIDS HED TOOK		<u> </u>	<b>.</b>	
		* ************************************			· · · · · · · · · · · · · · · · · · ·
<u> </u>			SUB TOTAL		
· · · · · · · · · · · · · · · · · · ·					
		Secretary of	NO.	UNIT	
	MATERIALS & OTHER ITEMS		UNITS	COST	
) Hauled	345 Loads @ 110 yds = 5	520 yds			
and the second seco	<u> Maria Propieta de la composição de la </u>				
		Part of the second	A CONTRACTOR OF THE PARTY OF TH	(	Contract to the contract
**************************************		<u>an an a literatura.</u> A kilomografia			
Comment: Man hours & Equipment hours Total this report Total previous:  Total to date		ort		: 	
		s report	******		
The above rec	ord is complete and correct.	, Work complet	ed and diccer	oted for pay	ment.
			TOR AUTHORIZE	D REPRESENTAT	<b>TIVE</b>



51954 Ticket #:

Cost Code: 880105 Date: 11/15/10

El Dorado County Work Performed For:

Description of Work: Fill Over French Drain

Labor Type	LABOR	HOURS Total OT	RATE Reg. OT	EXTENDED AMOUNTS
FM	Ed Wilkerson	6 /	\$ 84,58	\$ 507.48
GC		2 🗸	\$ 32.00	\$ 64.00
GC	Kevin Wickiser	, 11 /	\$ 84.34	\$ 927.74
В	Vanessa Echeverria	3 /	\$ 32.00	\$ 96.00
LB	valiessa Edilevellia	the state of the s	\$ 59.33	\$
L8	Mark Blanchard		\$ 32.00 \$ 59.33	\$ ÷
	Wark Dianoliald		\$ 59.33 \$ 32.00	- Ye
LB	Jose Alvaraz		\$ 59.33	\$
			\$ 32.00	<b>\$</b> '
LB	Salvador Serrato		\$ 59.33	<b>\$</b>
			\$ 32.00	\$ -
LB	Guillermo Santana		\$ 59.33	\$ -
	<u> </u>		\$ 32.00	<b>3\$</b> :
LB	Gabriel Macias		\$ 59.33	\$ -
			\$ 32.00	. <b>\$</b>
OP	Dana Carr	10 /	\$ 78.95	\$ 789,50
<u> </u>	<u> Announce de la companya de la comp</u>	2 . /	\$ 32,00	\$ 64,00
OP	Jerry Wilson	3. 9. \	\$ 83.26	<b>\$</b> 749.34
<u> </u>		1: 🗸	\$ 32,00	\$ 32.00
OP	Mark Grech		\$ 81.04	\$ -
AOP	Dale Shankles		\$ 32,00	\$ -
HOF	Dale Stratikies		\$ 63.56	\$
Teamster	Tom Azevedo	9.5 🗸	\$ 32.00	-\$ - # F22.30
i oumoter	TomPredado	1.5	\$ 60.25 \$ 32.00	\$ • 572.38 \$ 48.00
Mechanic	Tony Green	en e	\$ 82.25	
	,	<u>2</u>	\$ 32.00	\$ - \$ -
OP	Ray Ortiz	9 /	\$ 81.04	\$ 729:36
erio. Na kajoris de la serio de		1 7	\$ 32.00	\$ 32.00
OP	Rich McClellan	9 /	\$ 81.04	\$ 729.36
<u> </u>	en e		\$ 32.00	\$ 32,00
OP	James Johnson	9 /	\$ 81.04	\$ 729.36
4.2		1 /	\$ 32,00	\$ 32.00
UOM	MATERIALS & OTHER ITEMS	Qty	Unit Cost	Total
-		The second secon	na tra Vijema e na jedenske i Primara i nastanje i	\$ -
				\$ -
				\$ -
				\$ 6,134.52
NOTES:		ITOTAL TH	TOTAL THIS REPORT	



Fill Over French Drain

Description of Work:

Ticket #: 51954 Cost Code: 880101

Work Performed For: El Dorado County

HOURS RATE **EXTENDED** Total **AMOUNTS** Reg. EQUIPMENT Material & Equipment OT OT 345B Excavator w/ Thumb Attachment 182.69 VOLVO A40 Rock Truck 146.15 CAT 740 Rock Truck 159.63 CAT 740 Rock Truck 162.14 \$ CAT 637 E Scraper 33 381.93 \$ 12,603.69 CAT 637 E Scraper 381.93 \$ CAT 320 Excavator 123.68 CAT D8 R Dozer 10 √ 191.00 \$ 1,910.00 CAT 310 G Back Hoe 86.05 \$ 4000 Gallon Water Truck 9.5 √ \$ 60.33 \$ 573.14 CAT 14G Blade 8 √ \$ 190.00 \$ 1,520.00 CAT 950 Loader 95.08 \$ \$ ING 54" Compactor 52.88 HRZ Trackster 73.85 CAT D6R 144.18 \$ MOU **MATERIALS & OTHER ITEMS Unit Cost** Qty Total NOTES: TOTAL THIS REPORT 16,606.83

GENERAL ENGINEERING CONTRACTORS 4010 Chandler Ave., Santa Ana, CA 92704 (714) 540-5351 51954

	FWO No. Date Report No. HOURS TOTAL O.T. 6 Z 11 3 [O	11.1714		
	HOURS TOTAL O.T.  6 2 11 3	RATE REG	of	
	HOURS TOTAL 0.T. 6 2 11 3	RATE REG	EXTEND	
	TOTAL 0.T: 6 2 11 3	REG		
	0.T. Ø Z 11 3			
	4 2 11 3			1
	3			- A la
	3			$ \mathbb{I} $
-	10		ALL DOMESTIC	$\dashv$
				+
-	Z			
	9			
	4			+
	1	And the second		+
	<b>C)</b>		· · · · · · · · · · · · · · · · · · ·	1
	9			
	7	7 4 10 10 10		
	9,5			
	1.5			
- 1	10	lung ng ng		4
<u>ره دی د عمر</u> را کا کا انتهای	33			+
_	<del>gerte in station</del>			-
	8			$\Box$
	9.5			1
				+
	SUB TOTA	\L		
	<u> </u>			
	NO.	UNIT		
	UNITS	COST		*
				_
	) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) ) )		1 1 1 1 1 1 1 1 1	
		- 13	Acase.	+
bio vanav	<u> </u>		<u> </u>	+
,				-
	eport	A STATE OF THE STA		
o date	٠ ـ	5. <u>2018–22. sa</u> 31	New York Control of the Control	
1)	41	7		
t	previous r to date completed	this report previous report to date completed and accep	this report previous report to date completed and accepted for pay	NO. UNIT UNITS COST.  this report previous report to date completed and accepted for payment.  CLIENT OBJUTHORIZED REPRESENTATIVE 10-1291 D.13